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iz E & (B B 1.13G5 |429G3 [57G8  [7.3 G8 [8.20 G5 |9.24 G3 Ak
1[EZ #F—LaLT) 48 90 23 34 195
11288l EBEREEKXRD) 48 90 23 34 195
3R HARGEIUTC) 12 63 41 48 164
4/ HEEERIH) 63 23 48 27 161
S5|#as HeEh(BARTI#E) 19 23 63 22 27 154
6| B FREEBXE) 41 90 131
771l HER(GASCTT) 23 90 113
8|HE E(BAI#) 23 63 22 108
9FHE E2(Qoo) 27 23 19 69
10/ L# Z&5h(Qoo) 27 19 46
10|#378 ZE(NOBU) 34 12 46
10|{£#% FERB(NOBU) 34 12 46
13| KifE 1 Z(NEST) 23 22 45
13;5% &HE(NOBU) 23 22 45
158 ER(EHNZREXRE) 41 41
15|88 BECEF—T=XF) 41 41
15381 HmEATH 41 41
15| 5% FHCEFRERITTC) 41 41
15|B&R B (NEST) 41 41
15|#0H #&A(NEST) 41 H
21| & EEELR—) 12 23 35
21|E% {ZBB(ICTC) 12 23 35
21|31l IEZEQ000 12 23 35
24| XX _FE(SOTC) 12 12 24
24|tk #A(SOTO) 12 12 24
26| 5H ZENErEER) 23 23
26|#E10 HEXRACET=—RAFHTZI—) 23 23
26|kl BEXREREKXZE) 23 23
26|/ME mELVHENTC) 23 23
30|/5H E&(GASCTT) 22 22
0|iEE MEGEERIEX) 22 22
32|15 R HBELTC) 19 19
33|RAR FH(HYBORO—F) 12 12
33| EF FEIULREER) 12 12
33| KiF FI(DORO—F) 12 12
33|ME FOE(NEST) 12 12
33|dE HEZBEXREILSK) 12 12
33|EH BEF(NEST) 12 12
33|FFHHE Fth(NEST) 12 12
33|18 BEABI(HXREI;SK) 12 12
33|/hith =EE(H/ORO—F) 12 12
33|E —#@ORA—F) 12 12
33| = BUEGBH=HTFI—IL) 12 12
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9| % JF(EHTC) 19 19 38
9l/h i IE(EHETC) 19 19 38
11/hM#F EH—(Qoo) 34 34
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9|l HAIGBIMAITZE—IL) 48 48
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